

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 29, 2025

,		.,									
				Pay Peri Pay Peri		August 2, 2025 August 29, 2029		\$1,598,627.7 \$0.0 \$1,598,627.7			
Approval Date								By User			
August 29, 2025			Generated ar	nd Approved	d (and sho	uld be considered	Draft) at the Project Office Level by	sandic1			
August 29, 2025		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by									
September 4, 2025		ral Office Controllers Office Level by	ramses1								
Original Completion	on Date	Current Co	mpletion Date	Act	ual Comp	letion Date	% of Current Contract Amount	t Complete			
September 1, 2	025	Septem	ber 1, 2025		97.83%	97.83%					
	Cor	ntract Informat	ional Dates				Milestones				
Date Description	Original Cor	mpletion Date	Current Comple	etion Date		No Milesto	ones Exist for Contract				
Acceptance Date											
Awarded Date	rded Date October 2, 2024 October 2, 2024										
Letting Date	September 2	20, 2024	September 20, 2	2024							
Notice to Proceed Date	November 4,	2024	November 4, 202	24							
Work Began Date											

Contract Total Pay For Estima	te No. 5			
		This Estimate	Previous	To Date
240920-B02				
Total Po	sted Items Pay	\$10,200.00	\$1,553,805.84	\$1,564,005.84
Gross Ite	em Adjustments	(\$10,200.00)	(\$2,585.00)	(\$12,785.00)
Incentive	е	\$0.00	\$0.00	\$0.00
Disincer	ntive	\$0.00	\$0.00	\$0.00
Liquidate	ed Damage	\$14,100.00	(\$46,500.00)	(\$32,400.00)
Other Co	ontract Adjustments	\$12,384.60	(\$12,384.60)	\$0.00
	-		\$1,492,336.24	\$1,518,820.84
Contract Total Payable This Es	stimate:	\$26,484.60		

Contract Total Payable This Estimate:

Items Paid Thi	s Estimate	<u>Perioa</u>					
Project Number	Line Number	Item Code	Item Description	Unit Price	Current Installed Qty	Current Installed Amount	
JNE0044	0060	6200035	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	\$1,850.00			
Project JNE0	044 - Total						\$1,850.00
JNE0045	0130	6200014	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 24 IN. WHITE	LF	\$50.000	56	\$2,800.00
	0140	6200017	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 24 IN. YELLOW	LF	\$50.000	75	\$3,750.00
	0150	6200020	PLURAL COMPONENT LIQUID PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$450.000	4	\$1,800.00

Project JNE0045 - Total \$8,350.00 Overall - Total \$10,200.00

Contract Adjustments This Estimate

Project Number	Adj Type	System Generated	Comments	Project Percentage	Amount
JNE0044	Liquidated Damage	sandic1	JNE0044 RUC Adjustment: Charging a total of 4 days worth of RUC 7/24, 7/28, 7/29 and 8/21.	100	\$7,200.00
JNE0044	Liquidated Damage	sandic1	JNE0044 Administration Cost Adjustment: See picture in Doc Record for details.	100	(\$8,250.00)
JNE0044	Other Contract Adjustment	sandic1	Paying back anticipated liquidated damages.	100	\$12,384.60
JNE0044	Liquidated Damage	sandic1	JNE0046 Administration Cost Adjustment: See picture in Doc Record for	30.46677478	(\$228.50)

Revision 9/2/2025 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 29, 2025

Estimat	gress e Numl 5		Contract ID Prime Contractor	240920-B02 W. L. Miller Cor		ay Period Start ay Period End	August 2, 2025 August 29, 202	5 Net Cha	Contract Am nge Order An Contract Am	nount	\$1,598,627.7 \$0.0 \$1,598,627.7
Projec	ct Numl	per	Adj Type	Syste	m Generated	Con	nments	Project P	ercentage	А	mount
						details.					
Project JI	NE0044	I - Tota	al								\$10,584.60
JNE0045			Liquidated Damage	sandic1		Charging a to	JNE0045 RUC Adjustment: Charging a total of 3 days worth of RUC 7/28, 7/29 and 8/21.)	\$6,900.00
JNE0045 Liquidated Damage		sandic1		JNE0046 Ad Cost Adjustm picture in Do details.	nent: See		19.79630993	3	(\$148.47		
Project JI	NE004	5 - Tota	al								\$6,150.00
JNE0046			Liquidated Damage	sandic1			IC Adjustment: otal of 3 days C 7/29.		100)	\$9,000.00
JNE0046 Liquid		Liquidated Damage	sandic1		JNE0046 Ad Cost Adjustm picture in Do details.	nent: See		49.73691529		(\$373.03	
Project JNE0046 - Total		al								\$8,250.00	
Overall -	Overall - Total		These amounts	are listed in the	Incentive, Di	sincentive, Liquida	ated Damages or	Other Contract	ct Adjustments	3	\$24,984.60
ine Item	<u>Adjustı</u>	ments	This Estimate								
Project Number	Line No.		Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNE0044	0020	SEAL GRAD	COAT AGGREGATE, DE A2	Material					-187,535	\$1.20	(\$225,042.00
	0020	SEAL GRAI	COAT AGGREGATE, DE A2	, , , , , , , , , , , , , , , , , , , ,		mate Item andic1	187,535	\$1.20	\$225,042.00		
	0060	LIQUI MARI	AL COMPONENT D PAVEMENT KING, 30 IN WHITE LOCK	Other Item Adjustment	Other		Nithholding pay for Plural Component items until material certs are received and approved.				(\$1,850.00
JNE0045	0100		COAT AGGREGATE, DE A2	Material					-118,410	\$1.20	(\$142,092.00
	0100	SEAL COAT AGGREGATE, GRADE A2		Material		generated Mater Adjustment (000	offsets the origin rial Payment Esti 02) due to user sa ment Estimate Ex ment Estimate.	mate Item andic1	118,410	\$1.20	\$142,092.00
	0130	LIQUI	AL COMPONENT D PAVEMENT KING, 24 IN. WHITE	Other Item Adjustment	Other		for Plural Comports are received a				(\$2,800.00)
	0140	LIQUI	AL COMPONENT D PAVEMENT (ING, 24 IN. YELLOW	Other Item Adjustment	Other		for Plural Comports are received a				(\$3,750.00)
	0150	LIQUI	AL COMPONENT D PAVEMENT KING, LEFT/RIGHT DW	Other Item Adjustment	Other		for Plural Comports are received a				(\$1,800.00
JNE0046	0190 SEAL COAT AGGREGATE, Material GRADE A2		-322,945		\$1.20	(\$387,534.00					
	0190	SEAL GRAD	COAT AGGREGATE, DE A2	Material		generated Mater Adjustment (000	offsets the origin rial Payment Esti 03) due to user sa ment Estimate Ex ment Estimate.	mate Item andic1	322,945	\$1.20	\$387,534.00

Revision 9/2/2025 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 29, 2025

	gress e Number 5	Contract ID 240920-B02 Pay Period Start August 2, 202 Prime Contractor W. L. Miller Company Pay Period End August 29, 202							ount nount ount	\$1,598,627.73 \$0.00 \$1,598,627.73
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustmen Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
Total										(\$10,200.00)

Revision 9/2/2025 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Informa	tion							
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work								
JNE0044	FAF 6-2(60)	Seal coat	6	ADAIR	from the Chariton River ne	ar Novinger to 0.3 mile west	of Route D in Green Castle							
JNE0045	FAF 6-2(61)	Seal coat	6	ADAIR	from 1 mile east of Route 1	149 at the Chariton River to B	us. 63 in Kirksville							
JNE0046	FAF-6-2 (59)	Seal coat	6	ADAIR	from 0.2 miles east of Rou	m 0.2 miles east of Route 63 to Route 15 south junction near Edina								
Totals k	y Job N	umbers												
JNE0044	Posted Item Pay Gross Item Adjustments Gross Item Pay				This Estimate \$1,850.00 (\$1,850.00) \$0.00	Previous \$475,138.11 (\$2,057.00) \$473,081.11	To Date \$476,988.11 (\$3,907.00) \$473,081.11							
	Incentive Disincentive Liquidated Damages Other Contract Adjustments				\$0.00 \$0.00 (\$1,278.50) \$12,384.60	\$0.00 \$0.00 (\$17,400.00) (\$12,384.60)	\$0.00 \$0.00 (\$18,678.50) \$0.00							
JNE0045		ed Item Pay s Item Adjustm		s Item Pay	This Estimate \$8,350.00 (\$8,350.00) (\$0.00	Previous \$300,395.99 \$0.00 \$300,395.99	To Date \$308,745.99 (\$8,350.00) \$300,395.99							
	Liquid	tive centive dated Damage · Contract Adju		S	\$0.00 \$0.00 \$6,751.53 \$0.00	\$0.00 \$0.00 (\$13,800.00) \$0.00	\$0.00 \$0.00 (\$7,048.47) \$0.00							
JNE0046		ed Item Pay s Item Adjustm		s Item Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$778,271.74 (\$528.00) \$777,743.74	To Date \$778,271.74 (\$528.00) \$777,743.74							
	Liquid	tive centive dated Damage r Contract Adju			\$0.00 \$0.00 \$8,626.97 \$0.00	\$0.00 \$0.00 (\$15,300.00) \$0.00	\$0.00 \$0.00 (\$6,673.03) \$0.00							

Revision 5/29/2025 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JNE0044, Item 4094002, Project Item Line Number 0020, Material Set 409400296, Material 1003GA2 - Aggregate for Seal Coat Grade A2, Acceptance Action Generic 1003GA2 is insufficient.	No Remark was entered by Engineer	sandic1	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0045, Item 4094002, Project Item Line Number 0100, Material Set 409400296, Material 1003GA2 - Aggregate for Seal Coat Grade A2, Acceptance Action Generic 1003GA2 is insufficient.	No Remark was entered by Engineer	sandic1	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0046, Item 4094002, Project Item Line Number 0190, Material Set 409400296, Material 1003GA2 - Aggregate for Seal Coat Grade A2, Acceptance Action Generic 1003GA2 is insufficient.	No Remark was entered by Engineer	sandic1	Overridden
Estimate Exception Type: Item Overrun: Contract 240920-B02, Contract Project JNE0044, Project Item Line Number 0010, Contract Line Item Number 0010, Item 4091048, Minor Item.	No Remark was entered by Engineer	sandic1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240920-B02, Contract Project JNE0046, Project Item Line Number 0180, Contract Line Item Number 0180, Item 4091048, Minor Item.	No Remark was entered by Engineer	sandic1	Acknowledged

Revision 5/29/2025 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEI To Date (See report generated date)
JNE0044	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	52,510.00	0.00	52,510.00	GAL	52,829.00	\$3.00	\$158,487.
	0001	0020	4094002	SEAL COAT AGGREGATE, GRADE A2	187,535.00	0.00	187,535.00	SQYD	187,535.00	\$1.20	\$225,042
	0001	0030	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,000.
	0001	0040	6169901	MISC.LUMP SUMP TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$9,350.00	\$8,882.
	0001	0050	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$35,000.00	\$35,000
	0001	0060	6200035	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	6.00	0.00	6.00	EA	5.00	\$370.00	\$1,850
	0001	0070	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	98,649.00	0.00	98,649.00	LF	78,919.00	\$0.19	\$14,994
	0001	0800	6205902A	$\boldsymbol{6}$ IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	114,875.00	0.00	114,875.00	LF	91,900.00	\$0.28	\$25,732
Project J	NE0044 - To	tal Value	Posted to D	ate as of Report Generated Date							\$476,988.
JNE0045	0001	0090	4091048	EMULSIFIED ASPHALT, SEAL COAT	36,110.00	0.00	36,110.00	GAL	35,157.00	\$3.00	\$105,471.
	0001	0100	4094002	SEAL COAT AGGREGATE, GRADE A2	118,410.00	0.00	118,410.00	SQYD	118,410.00	\$1.20	\$142,092
	0001	0110	6169901	MISC.LUMP SUMP TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$6,500.00	\$6,175
	0001	0120	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$28,500.00	\$28,500
	0001	0130	6200014	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 24 IN. WHITE	56.00	0.00	56.00	LF	56.00	\$50.00	\$2,800
	0001	0140	6200017	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 24 IN. YELLOW	75.00	0.00	75.00	LF	75.00	\$50.00	\$3,750
	0001	0150	6200020	PLURAL COMPONENT LIQUID PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	4.00	\$450.00	\$1,800
	0001	0160	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	27,926.00	0.00	27,926.00	LF	22,341.00	\$0.19	\$4,244
	0001	0170	6205902A	$\boldsymbol{6}$ IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	62,112.00	0.00	62,112.00	LF	49,690.00	\$0.28	\$13,913
Project J	NE0045 - To	tal Value	Posted to D	ate as of Report Generated Date							\$308,745
JNE0046		0180	4091048	EMULSIFIED ASPHALT, SEAL COAT	90,430.00	0.00	90,430.00	GAL	90,606.00	\$3.00	\$271,818
	0001	0190	4094002	SEAL COAT AGGREGATE, GRADE A2	322,945.00	0.00	322,945.00	SQYD	322,945.00	\$1.20	\$387,534
	0001	0200	6169901	MISC.LUMP SUMP TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$11,950.00	\$11,352
	0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$40,500.00	\$40,500
	0001	0220	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	117,200.00	0.00	117,200.00	LF	93,760.00	\$0.19	\$17,814
	0001	0230	6205902A	$\boldsymbol{6}$ IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	219,879.00	0.00	219,879.00	LF	175,903.00	\$0.28	\$49,252
Project J	NE0046 - To	tal Value	Posted to D	Date as of Report Generated Date							\$778,271
B02 Overa	II - Total Val	ue Poste	d to Date as	of Report Generated Date							\$1,564,005

Revision 5/29/2025 Page 6 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JNE0044

Line Number	Item Code	Description			Posting Sequence No.				Offset/ Distance	Offset/ Distance	Comments
0060	6200035	COLD APPL LQD PVMT MARK, 30" WHT MIDBL	8/22/25	8/29/25	1	5.00	EA	123.567			

Project: JNE0045

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.		Units	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0130	6200014	PLURAL COMP LIQUID PVMT MARK, 24 IN WHIT	8/22/25	8/29/25	1	56.00	LF	140.159		140.386		
0140	6200017	PLURAL COMP LIQUID PVMT MARK, 24 IN YELL	8/22/25	8/29/25	1	75.00	LF	140.159		140.386		
0150	6200020	PLURL COMP LIQUID PVMNT MRK, LT/RT ARROW	8/22/25	8/29/25	1	4.00	EA	140.159		140.386		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 12



ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0044	0010	EMULSIFIED ASPHALT, SEAL COAT	Overrun	Overrun	3	Jun 30, 2025	SYSTEM	(\$957.00)	
		00/		Overrun - T	otal			(\$957.00)	
			Overrun - To	tal				(\$957.00)	
	0010 -							(\$957.00)	
	0020	SEAL COAT AGGREGATE, GRADE A2	Construction Stockpile	- Total	3	Jun 30, 2025	SYSTEM	(\$94,151.30)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	Stockpile - 1	Cotol				
			Construction Stockpile	і Зіоскріїе - 1	2	May 1, 2025	SYSTEM	(\$94,151.30) \$94,151.30	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$94,151.30	
			Construction	Stockpile S1	ſMI - Total			\$94,151.30	
			Material		3	Jun 30, 2025	SYSTEM	(\$225,042.00)	
					3	Jun 30, 2025	SYSTEM	\$225,042.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user sandic1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Aug 1, 2025	SYSTEM	(\$225,042.00)	
				4		Aug 1, 2025	SYSTEM	\$225,042.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user sandic1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Aug 29, 2025	SYSTEM	(\$225,042.00)	
					5 Aug 29, SYS1 2025		SYSTEM	\$225,042.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user sandic1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	0020 - T			- Total				\$0.00	
			Material - To	tal				\$0.00	
		Total						\$0.00	
	0030	CHANGEABLE MESSAGE SIGN WITHOUT	Other Item Adjustment	SUBI	3	Jul 1, 2025	vierss	(\$900.00)	See Doc Record
		COMMUNICATION INTERFACE, CONTRACTOR		SUBI - Total				(\$900.00)	
		FURNISHED / RETAINED	Other Item A	djustment - T	otal			(\$900.00)	
	0030 -	Total						(\$900.00)	
	0040	MISC.	Other Item Adjustment	SUBI	3	Jul 1, 2025	vierss	(\$200.00)	
				SUBI - Total				(\$200.00)	
			Other Item A	djustment - T	otal			(\$200.00)	
	0040 -	Total						(\$200.00)	
	0060	COLD APPL LQD PVMT MARK, 30" WHT MIDBL	Other Item Adjustment	OTHR	5	Aug 29, 2025	sandic1	(\$1,850.00)	Withholding pay for Plural Component items until material certs are received and approved.
				OTHR - Tota				(\$1,850.00)	
			Other Item A	djustment - T	otal			(\$1,850.00)	
	0060 -						0)(0==:	(\$1,850.00)	
	0070	4 IN. YELLOW HIGH BUILD WATERBORNE	Material		4	Aug 1, 2025	SYSTEM	(\$14,994.61)	
		PAVEMENT MARKING PAINT, TYPE L BEADS		4 Aug 1, SYSTEM 2025			SYSTEM	\$14,994.61	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user sandic1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
	2 2 32/100			- Total				\$0.00	
								\$0.00	
			Material - To	tal					
	0070 -			tal				\$0.00	
	0070 - 0080	Total 6 IN. WHITE HIGH BUILD WATERBORNE	Material - To	tal	4	Aug 1, 2025	SYSTEM SYSTEM	\$0.00 (\$25,732.00)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0044	0080	MARKING PAINT, TYPE L BEADS	Material			2025			Estimate Item Adjustment (0003) due to user sandic1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0080 -	Total						\$0.00	
JNE0044 -								(\$3,907.00)	
JNE0045	0100	SEAL COAT AGGREGATE, GRADE A2	Construction Stockpile		3	Jun 30, 2025	SYSTEM	(\$94,151.30)	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 4 41	- Total Stockpile - Total				(\$94,151.30)	
				Stockpile -		Manual	OVOTEM	(\$94,151.30)	Decreased Fasting to the Adirocky and appropriate Charles in Toronto edition
			Construction Stockpile STMI	pile	2	May 1, 2025	SYSTEM	\$94,151.30	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total Stockpile STMI - Total				\$94,151.30	
				i Stockpile S			OVOTEN	\$94,151.30	
			Material		3	Jun 30, 2025	SYSTEM	(\$142,092.00)	
					3	Jun 30, 2025	SYSTEM	\$142,092.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user sandic1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Aug 1, 2025	SYSTEM	(\$142,092.00)	
					4	Aug 1, 2025	SYSTEM	\$142,092.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user sandic1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	Aug 29, 2025	SYSTEM	(\$142,092.00)	
					5	Aug 29, 2025	SYSTEM	\$142,092.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user sandic1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0100 -	Total						\$0.00	
	0130	PLURAL COMP LIQUID PVMT MARK, 24 IN WHIT	Other Item Adjustment		5	Aug 29, 2025	sandic1	(\$2,800.00)	Withholding pay for Plural Component items until material certs are received and approved.
				OTHR - Total	OTHR - Total				
			Other Item A	djustment - 1	otal			(\$2,800.00)	
	0130 -	PLURAL COMP	Other Item	OTHR	5	Aug 29,	sandic1	(\$2,800.00) (\$3,750.00)	Withholding pay for Plural Component items until material certs are received
	0140	LIQUID PVMT MARK, 24 IN YELL	Adjustment			2025	Suridio		and approved.
			OTHR - Total Other Item Adjustment - Total					(\$3,750.00)	
	0440	Tatal	Other Item A	ajustment - 1	otal			(\$3,750.00)	
	0140 - 0150	PLURL COMP	Other Item	OTHR	5	Aug 29,	sandic1	(\$3,750.00) (\$1,800.00)	Withholding pay for Plural Component items until material certs are received
		LIQUID PVMNT MRK, LT/RT ARROW	Adjustment			2025		, , ,	and approved.
			Othordtown	OTHR - Total				(\$1,800.00)	
	0450	Tatal	Other item A	djustment - 1	otal			(\$1,800.00)	
	0150 -	- Total 4 IN. YELLOW	Material		4	Aug 1,	SYSTEM	(\$1,800.00) (\$ 4,244.79)	
	0160	HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS			4	2025 Aug 1,	SYSTEM	\$4,244.79	This adjustment offsets the original system-generated Material Payment
						2025		Ţ., <u>=</u>	Estimate Item Adjustment (0005) due to user sandic1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total					\$0.00	
			Material - Total					\$0.00	
	0160 -	Total						\$0.00	
	0170	BUILD	Material	4	Aug 1, 2025	SYSTEM	(\$13,913.20)		
		WATERBORNE							



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0045	0170	TYPE L BEADS	Material						Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
		70 - Total						\$0.00	
JNE0045 -							0)/0==1/	(\$8,350.00)	
JNE0046	0180	EMULSIFIED ASPHALT, SEAL COAT	Overrun Overrun - T		3	Jun 30, 2025	SYSTEM	(\$528.00) (\$528.00)	
			Overrun - To		<u> </u>			(\$528.00)	
	0180 -	Total	Overruit - 10	tai				(\$528.00)	
	0190	SEAL COAT	Construction		3	Jun 30,	SYSTEM	(\$94,151.30)	Payment Estimate Item Adjustment generated Stockpile Transaction
	0130	AGGREGATE, GRADE A2	Stockpile		o o	2025	OTOTEM	(ψοΨ, 1ο 1.οο)	Tayrion Estimate Rem Adjustment generated electronic Transaction
				- Total				(\$94,151.30)	
			Construction	Stockpile -	Γotal			(\$94,151.30)	
			Construction Stockpile STMI		2	May 1, 2025	SYSTEM	\$94,151.30	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$94,151.30	
				Stockpile S				\$94,151.30	
			Material		3	Jun 30, 2025	SYSTEM	(\$387,534.00)	
					3	Jun 30, 2025	SYSTEM	\$387,534.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user sandic1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	Aug 1, 2025	SYSTEM	(\$387,534.00)	Zouniale Ziverpier o en uio carroni i ajment Zouniale.
					4	Aug 1, 2025	SYSTEM	\$387,534.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user sandic1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					5	Aug 29, 2025	SYSTEM	(\$387,534.00)	
					5	Aug 29, 2025	SYSTEM	\$387,534.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user sandic1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0190 -	Total						\$0.00	
	0220	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		3	Jun 30, 2025	SYSTEM	(\$17,814.40)	
				4	3	Jun 30, 2025	SYSTEM	\$17,814.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user sandic1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Aug 1, 2025	SYSTEM	(\$17,814.40)	
					4	Aug 1, 2025	SYSTEM	\$17,814.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user sandic1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0220 -	Total						\$0.00	
	0230	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		3	Jun 30, 2025	SYSTEM	(\$49,252.84)	
					3	Jun 30, 2025	SYSTEM	\$49,252.84	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user sandic1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					4	Aug 1, 2025	SYSTEM	(\$49,252.84)	
					4	Aug 1, 2025	SYSTEM	\$49,252.84	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user sandic1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0046 0230 - Total								\$0.00	
JNE0046 -	Total							(\$528.00)	
Overall - 1	Γotal						(\$12,785.00)		



Contract Adjustments for Contract - 240920-B02

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
4	JNE0044	Liquidated Damage		(\$14,400.00)	100	August 1, 2025	sandic1	JNE0044. LD's started on July 23rd and is being charged through the 1st of August. Project is still not complete.
		Liquidated Damage		(\$3,000.00)	100	August 1, 2025	sandic1	JNE0044. LD's started on July 29th and is being charged through the 1st of August. Project is still not complete.
		Other Contract Adjustment	OTHR	(\$12,384.60)	100	August 1, 2025	sandic1	Anticipated Liquated Damages.
	JNE0045	Liquidated Damage		(\$13,800.00)	100	August 1, 2025	sandic1	$\ensuremath{JNE0045}\xspace$, LD's started on July 25th and are being charged through the 1st of August.
	JNE0046	Liquidated Damage		(\$10,800.00)	100	August 1, 2025	sandic1	JNE0046 Road User Cost. LD's began on July 19th and went through the 28th, weekends and holidays were not charged.
		Liquidated Damage		(\$4,500.00)	100	August 1, 2025	sandic1	JNE0046. LD's started on July 19th and went thru the the 28th. Weekends and holidays weren't charged.
4 - Total				(\$58,884.60)				
5	JNE0044	Liquidated Damage		(\$8,250.00)	100	August 29, 2025	sandic1	JNE0044 Administration Cost Adjustment: See picture in Doc Record for details.
		Liquidated Damage		(\$228.50)	30.46677478	August 29, 2025	sandic1	JNE0046 Administration Cost Adjustment: See picture in Doc Record for details.
		Liquidated Damage		\$7,200.00	100	August 29, 2025	sandic1	JNE0044 RUC Adjustment: Charging a total of 4 days worth of RUC 7/24, 7/28, 7/29 and 8/21.
		Other Contract Adjustment		\$12,384.60	100	August 29, 2025	sandic1	Paying back anticipated liquidated damages.
	JNE0045	Liquidated Damage		(\$148.47)	19.79630993	August 29, 2025	sandic1	$\ensuremath{JNE}\xspace046$ Administration Cost Adjustment: See picture in Doc Record for details.
		Liquidated Damage		\$6,900.00	100	August 29, 2025	sandic1	JNE0045 RUC Adjustment: Charging a total of 3 days worth of RUC 7/28, 7/29 and 8/21.
	JNE0046	Liquidated Damage		(\$373.03)	49.73691529	August 29, 2025	sandic1	JNE0046 Administration Cost Adjustment: See picture in Doc Record for details.
		Liquidated Damage		\$9,000.00	100	August 29, 2025	sandic1	JNE0046 RUC Adjustment: Charging a total of 3 days worth of RUC 7/29.
5 - Total				\$26,484.60				
Overall - T	otal			(\$32,400.00)				

Revision 5/29/2025 Page 12 of 12